normalized X2

107

< x2/ndf >

Ratio

< x2/ ndf >

Ratio

50085
1.076

[ normalized x? probability |

0.06f--F---remiemciee ey

50133
0.5252

0.05F

B 50085
Mean 05251
st

0.04f--1--+
0.31

td Dev.

0.03]

0.02

o 0 M
KSR % sREEEEEEEEE e
o .
AT e e
0 2 4 6 8 10 12 14 16 18 20 "0 0102030405060.70809 1
X2 Prob(x?)
[=m== DQM_MKFIL_TT_retram-Towpt
— DQM:mkFil:TT:NEWdefaulrl:specPLessl-\owpl
— DQM_mkFit_TT_NEWdefault_specPLess2-lowpt
s DQM_mkFit_TT_NEWdefault_specPLess3-lowpt
s DOM_mkFit_TT_NEWdefault_specPLess4-lowpt
1.8:— """""" [ \ """""" [
(I SRR PEPET EPEPE SEPEPE PEPER EREPE
1.4F
1.2
!
0.8]
0.6
1.
1.05
0.95]
0.9
A F
18 2 18-
S< 16f-
v o
1.6 1.4F-
1.4 1.2F
12} ¥
0.8F-
1 06F
0.8 0.4F
0.6l 0.25—
L o GQF
1.1 EE
0.5
1
g 107 102 o
AR(track, jélts)




	Contents
	Page 1


